'Afk lmwmﬁ Ui | -
- o |
Me ﬁi{w

tNG 3¢ Tlamesang MATaEMATICS. v

SefLon BT L.
_“n—t awﬁume—n%tcv mnab L o
= f.|.| ol S W W 4 TN A
" 1 -1 > ?g__;gﬁ— N
W R - W e J=18
HErERE TR .4
R LT T -SRI - H
s k“} B 1 6 =~&-i|"9% j_ o h
3_:[| o =B B = i
;;rff':7 D8 - B 8 “dssmel B F W) oog A
51534%:~ cC a2 I -2 9| -9 PR T R
> ”__Eél.:}_ O 706 18 AL g te2| s ¢
3 =)0 —0wgp (0333 -7 -33y 0| % i

E i
= -B3{0 <025 235 -35 33 pd-tor

D ﬂ;mjk = })j J. anel SU\JZ‘P (PNUJC) w.flﬁ& _'
_--—-A—-r(,a.) _ / l_ | - -

0 N - '_3.3 ,' : ,7,5

) 0 =8 &5 . 0 35 _mc| &

| B ORI Z1 SUY S L S LS O S st
Mo o O00] - big = Sammm D |-femm)
_ LB Nl T =B =i B6h |=imae

Scanned with CamScanner



-2 l R 1
o o . =83 L f=A5
__f‘lib?'_ <l T} il e
e M DO N
Jifaq -39 -sqqy L7343
35 Al —les S 1 7525
Hmj }:.q_ \mj J qmvp S\.\MP Wllt Ex f
| ™ I 3 o ol
T -0 (4>
o | L N A 2 S SR S o % 1 S
0 lblet - -2l 0663 | 755 |
O lygq -3FE -sggr | 33 493
O &5 -i_ -lgg 3 | -52588
S s = ¢ 1A
-0 -0'5 | o

|
0 [ -9 33 | %] -6°5601
0 O 0343 0006 -~veg | gersg|
0 o “Wes  TYst o3 | <E-g05|
0 iR oﬁf 0109 ~0>5u3-| 0+691)

Scanned with CamScanner



e
A (0: f| l = ’ 3 2 r (f
0 { -0%5 -\ -05 | 'C|'5
6 0 1 - am 1 |-bset
0 O o] | e20n * =*¥3] 6250
0 0 O e 1334 - 00533 |-BU5
B T . G . - e L §
N I N - - T
0 ) -0+G o | “0-5 | -5
B 5 1 =l s A ¢ joeeib
0 0 0 | 0.022  “I%3 |0 3FD
bomm~ By [ D D 0 0 0957 2.199 |~ 0ds
w30 0 0 0 P 10mp el
vacf@f Pt Bl 0757
A jl Y l 3 1 1] 8
o I -5 T =05 =15
0 0 I -2 1933 12 |-pubt
% g D 1 O-232  -[-83 | b-I80
O 0 © 0 ! 2385 |"O-hy
o D O O —10%2 0.8y \—13.573)
RO T =y l 5 o g &
0 1 _-056 =1 -D5 ! =ity
0 0 1 -t -l933 11| - bewst
O o 0O 1 02 [+&83] | (asD
0 0 0 ) | 2158 ‘D'_Jf??
0 » D v 0 -oR3ios;

E)qc,l-cwcnP 5%& fdien -
{[\"”U’ {h,.m Jq/ 10133 [¢=10-16F

S N - e

Scanned with CamScanner



‘L}dbrﬁ ES)' T5+ :)."Q—EK_T&: é"._‘ D'a'cl_‘f' .
i Tg = =0 1= 98 (.”_('DQ‘)’)_ -

S e P
*%QAjT+UﬁJH%-.U@WR:Qﬂ&ih“”
— T¢= -0-232( 19994 o 531(-1-00) £ oog ey
— _H:F{'_—Ooa_-':: Y N ]
— Frem B3 B=lodle 9337 L (o ~ gL g0

e ___-E’,f-: '!'"‘:':1([.{—1003) + ,o‘-‘l 33(" e ——
e ! L IR
l‘s::?)‘DD_;) }"5/} ) JC OUO) 6 é&i'____ﬂ__

Lo B} Pl T - T
_h}hong§05g+a:35

HJ-: U‘SCB"DQ}\ﬁ-q@o; D~ - :
1 ERSUAR) ~ el oot g}

' i

e e

—
—

. T ]'Cfcléz -__;__77

%-Dm E : a
T—IQ\I¥R_¥R444*3E'u:¢ .
I"_‘i{" “bqﬁﬁ);}‘u (3 ODQ-) L{»,Oog_—-BCl\ﬁCﬁB C S

= D999 2 1, —HrLmloos)

. T:l/ Tl‘:»'ay 1 = T, il

Scanned with CamScanner



